Animal Farm (1945)							       Name: ______________

1. What is Mr. Jones’s main vice?
	(A) Lust		
(B) Alcohol		
(C) Gambling		
(D) Cigars

2. What is Sugarcandy Mountain?
	(A) The name of the lullaby that Napoleon forces the pigeons to sing to his thirty-one piglets
	(B) The idea of animal heaven propagated by Moses the raven
	(C) The setting for the story that Mollie tells to the lambs
	(D) The mountain visible on Animal Farm’s horizon

3. What Russian institution does the raven Moses evoke?
	(A) The Secret Police				
(B) The Congress	
	(C) The Russian Orthodox Church		
(D) The education system

4. How does Napoleon express his contempt for Snowball’s windmill plans?
	(A) By spitting on them				
(B) By giving a scathing speech
	(C) By urinating on them			
(D) By writing Snowball a letter

5. Who reduces the ideals of Animalism to the phrase “Four legs good, two legs bad”?
	(A) Snowball  		
(B) Napoleon		
(C) Squealer		
(D) Boxer

6. Who teaches the sheep to chant “Four legs good, two legs better”?
	(A) Napoleon		
(B) Moses		
(C) Clover		
(D) Squealer

7. Which animal hides during the Battle of the Cowshed?
	(A) Boxer		
(B) Clover		
(C) Snowball
(D) Mollie

8. Which animal refuses to become excited about the windmill?
	(A) Old Major		
(B) Old Benjamin	
(C) Boxer		
(D) Clover


9. How many letters is Boxer able to learn?
	(A) Four—A through D			
	(B) Zero
	(C) Six—the number of different letters in Napoleon’s name
	(D) All twenty-six, plus certain letters in the Russian Cyrillic alphabet

10. Which Russian leader does Snowball most resemble?
	(A) Lenin		
(B) Trotsky		
(C) Stalin		
(D) Gorbachev

11. Which Russian leader does Napoleon most resemble?
	(A) Stalin		
(B) Trotsky		
(C) Tsar Nicholas II	
(D) Lenin 

12. Which animal voluntarily leaves the farm?
	(A) Mollie		
(B) Boxer
(C) Squealer		
(D) Snowball

